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(6 marks)
Notes:
(a)
2tan @ tanf+tand
B1: States or uses tan 26 = ————. This may be unsimplified ie. tan 20 = ———
1-tan“ 6@ 1-tanfdtané
M1: Attempt to use the identity tan(A+ B) with A=26 and B =& or vice versa with tan 26 being
tand+tan @
replaced by —————— . Condone sign slips only on tan 36 = tan20+tano
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M1: Attempts to create a simplified fraction by multiplying both numerator and denominator by
(1— tan® 0) or equivalent

3tand—tan* @

Al1*: Shows careful work leading to >
1-3tan“ @

(b)
M1: Substitutes tan g = J6 into the identity for tan 34 in terms of tan g

A1l: Shows careful work leading to tan 34 = %\/g




